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1. Ma?maamaﬁﬁuﬁammﬁm-méaﬁmwmﬁ@amﬁﬁm
TR R arar &) A 3 A9 Rl Faar Y arerd wfafe it & o A & e 3rfarg
T AT W & ol ST H3-aRiar Irediehd X & Sesh|

You have been called for the written test based on the online data furnished by you in the web application__If you have
wronaly entered any information in the web or you do not possess the required qualification as per our advertisement,
your candidature will be rejected. :

¥ arer gfer 7 faderss iy 3ufEufa & &1 3! gTd-Ree I gEdTai 3= 91|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3 T9-97, 80@?{’??@3{9@-3%%@:&% 3R qfer fr 3@ 02 ¢ | |

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4. gElFIRAT T g@d iy G e HTHIR Sec-gieder & Smean|

A separate OMR answer sheet with duplicate will be provided to mark the answer options.

5 ® U2 FTAT 04 3% gt 3K 9+ Tdd 3cal FfT UH 3 HIST ST |

Each question carries 04 marks and one mark will be deducted for each wrong answer.
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ST AT Y 2% FR TerT-qfEde A e (WS, HTANR Seer R I e T4 5

Torgar anfge
Question booklet series code (AIB/C/D/E) printed' on the right hand top corner should be written in the OMR

- .answer sheet in the place provided.

GRET-GIECTehT 3 TR ATH T 3Telshaieh el o |

Enter your Name and Roll Number correctly in the question booklet.

HTANR SeeR-qeaar & et wfafea dvelwre war & afa arge 9a @ & i Sl 7rfg e

All entries in the OMR answer sheet should be with blue/black ball point pen only.

IR RAdedl afta ardfss TeR & g gl s @ A% ve 3rifesd &9 & @6l grm |

The questions will be objective type with four options out of which only one will be unambiguously correct.

HTTE, Seal-Qieds 7 T a1v 3rqeei & 3TaR, Arll/hrel TEN & diel IS¢ de & NTHIR Seci-
qfeca # Heftra sifae @t 3ifaha X GE Scal I =TT+ H=1

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

Wmaa;ﬁrumwmmmm|

Multiple answers for a question will be regarded as wrong answer.

fofea whan gasar #id & e FTALX, FIAHAET, AAIFe Bl TUT Hed FeFelern FIId, TT-
qE, Alle Y oY it srerafer st & seafy

Computers, calculators, mobile phones and other electronlc gadgets, text books, notes etc., will not be
allowed inside the written test hall. :

qﬂ'ﬂTq‘P‘rﬁﬁW HNTANR Fea-qREdehT Bl I 3 Bt e § BIS 3R FHel AN Icax-gfedet
forfreres WY qar @l wfd simde g |

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you.

SeeT-qeceT 18T 379t 9T 3@ Fhl B |

The question booklet can be retained by the candidates.

TR & S & NI 313t w1 e gler oise 1 AT T

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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TRARATT-§1_sAFARTT (1298)/Technician—-B Electrician (1298)

RS UROT AleX & FeeX H 3cUeed Gahr &1 W YU HLT g
The magnetic field produced in the stator of three phase induction motor, rotates at

(a) EI;USIFF aTfcl/Rotation speed

(b) W IfT | FU/Above synchronous speed
| (c) ?:T:FJEIF?T I1fa/Synchronous speed |
(d) @doT 1fA/Slip speed

1400 rpm 9T gUIT FXA Gl T 4 pole 50 Hz IRUT A F fetar @doT £2/Calculate the

slip in an induction motor 4 pole 50 Hz rotatmg at 1400 rpm
(@) 6.6% (b) 6.0%
() 55% (d) 5.0%

BT FUTRT WOT Al H 5T YR & T H T3 Fam S1ar &2

In Small capacitor induction motor, the type of stator used is

(a) TTR-3¢CT Yacs/Star-delta starter
(b) Sr3NTd YadH/DOL starter
(c) ¥TF-3aROT gaﬁa?/Auto-transfer starter

(d) W—ﬁfrﬁm Ydcieh/Rotor-resistor starter

 3eS R ¥ 3EER Bl T & Jronar e Wl oS ST A e el
AT & Areh Hr Far$ v s gea & w7 gl 11 kv A F Rie ae

FAT 82/As per IE regulations when service lines are installed elsewhere other than along or across

any street, the conductor of line at any part shall have a he1ght not less than a spemﬁed value. What
is the value for 11kV lines '

(a 3963m ' ; (b) 4572m
() 5.486m | () 5791m
| 3 1298/16



U UeEcieh T T & a9 & F3gge & &I H fHar S g

A penstock is used as a conduit between

(2) UH UHAST T F TEH T dUT TS/ The steam chest and turbine in a thermal

station

(b) T g3l VUT H 8A dUT TXaT3+3/The dam and turbine in a hydro station
(c) TXETSsT JUT TA\STA AT/ The turbine and the discharge drain

(d) TH FgfFerR iR FIF # FAT AfAAfAT TUT exa187/The heat exchanger and the

turbine in a nuclear power plant

Prafafld # ¥ Flef-a1 oat HF TAEROT GguT § TR §1/Which is the following

power plant free from environmental pollution

(a) SeTel/Diesel (b) WW/Nuclear
(¢) STel ﬁaﬂ?f/Hydroelectric (d) &#H19/Steam

e e F 5E TR & Aex F1 99T Far Frar € ?/Which type of motor is used in

ceiling fan

(a) <215 Yra/Shade pole
(b) zg\%a'éar HIeY/Universal motor
(c) TUS FUTRT TTE/Permanent capacitor start

(d) FURFT TIE TAT I A/ Capacitor start and run motor

1400mm (56 inches) SIS WISl aTet Aifeler thel T Hex Iear g9

A ceiling fan of blade size 1400mm (56 inches) will have motor rating

(a) 10tol5W (b) 50to 70 W

© 120t0180W (d) 250 to0 500 W
4 1298/16



9.

10.

LL.

Wafammawmqﬁﬁalohm%sﬂza#?gagﬁrgﬁﬂvlooohms%l
100 RPM & faIT faUE emf RURF 9 volts &1 SR Fears aleear 100 V & 3R g
1000 RPM #Ifd 9% Telar §1 S Toas 9nrT fraer &2

A shunt DC Motor Armature resistance is 1 ohm and field coil resistance is 100 ohms. Back emf

~ constant is 9 volts for 100 RPM. The DC Supply Voltage is 100 V and it is running with a speed

1000 RPM. What is DC supply current?
(A 11A (b) 10A
(c) 1A (d 01A

mqﬁqvﬁﬁara?rg@ww%?

What is the major cause for open in the Armature circuit?

(a) @Iz ¥ 7 @AaRI/Open in field Coil
(b) fFaRads @s & Mulw|/Short in commutate segment
(c) fa%se U FoAF1/Bad brush tension

(d) eI s AT 1/Wrong brush position

HiF-AT faaR0T Aefi(routine) AR Jrepator Fr RIS fERINAT @ gu Far ¥2

Which statement describes a characteristic feature of routine preventive maintenance?

(a) HIIHA F 9fase AT IARTIT & IR R IHRETT FHA 1 oty o
SATAT ?»’I/Maintenance schedule needs to be decided, based on maintenance requirements

entered in the manual

(b) I ar AMF F FF RS TAT, TR A FH §E R F kT 31eRaToT R

ST HhaT g |/Maintenance could be done either during the working of the machine or during

shut interval down period

(o) JHIXETIT AT 311@1-?:?{ ) fRar Smar %’I/Maintenancg done at irregular frequencies

(d) IfE AMNT 7 Fdr @Er ar aﬁ' glar g ar gr JITETOT fRaT STar §1/Maintenance is

performed only if the machine has a fault or defect

5 1298/16



12.

13.

14.

15.

16.

500 V 9T 100A $R T f3aR0T I arar Ere-unRd-gy fAsr Saey & &AL 0.1 Q, 0.03
QaAT200 Q A, Aot &7 Far qreduy &9 ufaer €1 3R aRT fRaeT §72/A long

shunt compound generator delivering a load 100A at 500 V has armature, series field and shunt
field resistances as 0.1 , 0.03 Q and 200 Q respectively. What is the armature current?

(@ 975A (b) 100 A

) 102.5A @ 105A

Ay 3CRTel # FH &9 F Folerd HT JARIT FA o T ST SieRex HihATeh AT I
ST fRAT FATAT §2/Which one of the part of DC generator is used to spread out the flux in the

air gap uniformly?

(2) ¥d-/Pole shoe (b) € #Is/Pole core
(c) 3THTR I8/ Armature core (d) feFaRad®/Commutator

T I F 7 F 9y F 9490 Ja §?

In which material the brushes of DC generator are made?

(a) i=/Bronze : (b) WHIEA/Gunmetal

(c) TN TG UTHISE/Carbon and graphite (d) oI FRETSS/Zinc Carbide

SQHWWQHW%%WaammﬁWWE?W%?Howmmy

parallel paths are there in simplex wave windings armature of DC generator with 8§ poles?
(@ 2 (b) 4
(c) 6 d 8

qRonfAST &1 3T fFEd far STar 872/ Transformers are rated in

(@ kW (b) kVA
(c) kWh (d) kVAR
6 1298/16



17. UH1kVA250V/125V & Ueh-Felld IROTTAT & oot dleear ared 7 frae Regd or
grefr?/Calculate the current in low voltage side of a 1kVA 250V/125V single phase transformer

(@ 4A (b) 6A
© 8A @ 10A

18. oy v &1 gRonfay E\:ﬁ?ﬂ'ﬂ' a9 AT SXar?/Which type of transformer does not

isolate the secondary?

(@) fasa gRonfAa/Potential transformer

(b) EET:IRUNTAF/Auto transformer

(c) faaRor aRunfA=/Distribution transformer
(d) ﬁaﬂﬁ' YRT 9RONMfAF/Current transformer

19. 8 §dIT 50Hz Yegmafds & aifer freht &2

The speed of an 8 pole 50Hz alternator is

(a) 3000r.p.m (b) 1500 r.p.m
(¢) 750rp.m (d 375rpm
20. oI IR @ Fod vF P SeeT Hag YeAEdT & I &
A 3 phase delta connected alternator having a rotating armature will have
(@) 2 a9 Ra1/2 slip rings (b) 3 Fera Ra1/3 slip rings
(c) 4 a9 Ra1/4 slip rings (d) 6 e Ra1/6 slip rings
21. YImEfd & ®ex § aedr IRwy F fgga-arn gart aftafga
orar STar %‘I/The current from the stator of alternator is taken to external circuit through
(@) g Ra/Slip ring (b) ReIRad® Ws/Commutator segment
(c) O HFASA/Solid connection (d) T §2/Carbon brush

A 7 | 1298/16



22,

23

24.

25.

U AT H A SR T vl Seel FAE P JE & /The DC

and AC generators are similar in one important function, that is the

(@ 3curfied emf 3 E1/Generated emf is DC

(b) IcIET emf THY §l1/Generated emf is AC

(c) 3cUfed emf TICHTT YRT §1/Generated emf is pulsating current
(d) 3curfeT emf Sr=AT ¢IRT §1/Generated emf is an oscillating current

éagammﬁam%mﬁﬁ%w%aﬁﬁamwﬂwaﬁ%m
AIfET?/Which type of fire extinguisher must NOT be used in case of electrical base fire

(a) el 31fFsTemFe/Halon extinguisher
(b) A T FARISS HIT2MHB/Carbon Tetra Chloride extinguisher
(c) e 3fFTUTHF/Foam extinguisher

(d) Y UIBST HIAAMAF/Dry powder extinguisher

AT R R faega wara w1 gikamr R AR E1/The

magnitude of electric shock on human body depends upon

(@ @Sl aleedl/the line voltage

(b) ST &RT/the line current
() ©ITS YRT TAT IS dlecdl/the line current and line voltage
(d) AT WK F Jafgd YRMcurrent flowing through the human body

I F1C N sl A glal 1 ER uH A ¥ O 6T & R @ Sy

fafafése fFar smar §?/The size of the teeth of a hacksaw blade is directly related to its pitch.
How is the pitch specified?

(@) 9Id FIC IR s Fir El\ﬁ' €S & fIW/For the whole length of the hacksaw blade
(b) 100 mm Yfer FaTS/Per length of 100 mm ‘

(¢) 25 mm 9fd S€TS/Per length of 25 mm

(d) 10 mm¥Td SI€TS/Per length of 10 mm
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26.

2.

28.

29.

Teh chidel &1 [ECfUer ad dad A18W seis Hl fhd FIUT (Fad Tdg & T1) 9T G
AIfgT?/Which is the correct angle (with the cable surface) at which the knife blade should be kept

while stripping a cable?

(@) 60deg & 3TT&/More than 60deg (b) 20 deg & FH/Less than 20 deg

(c) T 45 deg/About 45 deg (d) 20 TUT45 degh &Id/Between 20 and 45 deg

s RIC Tgu afsa ERee Fia-ar §2/A thrite type lightning arrester
(a) S TS oS H Ycde] ol aleedl @ U &aT &/Blocks the surge voltage appearing in

aline
(b) SNTH S H UcusT Tt dleedl T AT FRAT §/Absorbs the surge voltage
appearing in a line

(c) SiTsl A U fAe=T GfaIue U &ar &/Offers a low resistance path to the surge

(d) Sgst N BT F a9T FaT §/Returns surge back to the source

415V, 50 Hz, Bthet ot ol fseshrdy &1 Sfder 3mafed #ar §2/What is the ripple
frequency of 415V, 50 Hz, 3-phase full wave rectifier '

(@ 50 (b) 100

(c) 150 (d 300

Teh Al SelReX AT & P ISR & AT FAex FT 397 Far Far 22

In a motor generator set, the type of AC motor used is

(a) F@ﬂ' ool UROT HAIe/Squirrel cage induction motor
(b) i’%’ﬁ?f e WROT Alel/Wound rotor induction motor
(c) THr FaRads AI/AC Commutator motor

@ F_I)FQEFIT*?I' AleX/Synchronous motor

9 1298/16



30. A fRU S Gt WIee &1 o fhU S W ERe] IR H &

£

32,

33.

e Hichel FT YAET AT AT ATeT/ Two pin sockets should not be used in domestic wiring

unless the appliance to be connected is

(a) aﬁ-ﬁc{-ﬁQﬁﬁ/Double earthed

(b) gR-U™d/Double insulated

(c) SuerieT garT fAAf¥d/Controlled by ELCB
(d) THAET garT AAf¥d/Controlled by MCB

a’g?l?ﬁ? AFE & O 7T R &1 araRer 3faa §2/Which type of wiring is suitable for

multi-storey building

(@) €I YUTTel/Tree system

(b) TIT AT YUTell/Ring main system

(c) Taavor 15 Yumell/Distribution board system

(@ Rer A« qur faaRor d3 YUTTell/Ring main and distribution board system

16 A Wl TGN IRGY R T ATEA T HAHFAH AT aresT fhelell §2/What is the

maximum permissible wattage of an appliance on a 16 A fuse branch circuit?

(a) 3.0KW (b) 3.9KW
(c) 4.0KW (d 8.0KW
UeATcH® b & ol Ueh UUUET IROUY GO T ireled F

® H fRar STUem/A NAND circuit with positive logic will operate as
(2) FHUMcHS d& & gerd TANR/NOR with negative logic

(b) KUTcHF d ¥ ToFd UTASI/AND with negative logic’

(¢) FHUTIcHh as g @ IFd 3IAR/OR with negative logic input

(d) FHOUTHS d& T qFd UUSASI/AND with negative logic output
10 1298/16



34.

a5,

36.

-

Ush 3[& 01 & faw 3978 §I/A decade counter requires

(@) 4 9T waTa/4 flipflops (b) 3 TFaT wITa/3 flipflops
(¢) 10 eI waT9/10 flipflops () 2 %I wAT9/2 flipflops

U UIodT i 3a-3ag g 9 &7 giar £7/When a PN junction is forward biased
(a) 3N98TT &7 "edr %/Depletion region decreases

(b) 3IHew T&gs algehl IT El-ﬁé.’ qHTT FI'@' Zﬂ?—IT %’/Minority carriers are not affected
ORREHRE 3?3—_&?!' e @ I Ted g/Holes and electrons move away from junction
(d) Eqéﬁ HHV/All of above

gfeeex (M) v aRadt affias & &9 &F F1 ar 2

A transistor (BJT) works as a variable resistance when?

(@) 9 3cgois ¥ -3 3ik Hargr iy {uda-3tdeaa &1aT & /Emitter junction

is forward biased and collector junction is reverse biased

(b) 9 3cHoE B -3 3R T TR -3 2T T1/Emitter junction

is reverse biased and collector junction is forward biased

() o« maﬁﬁqﬁaaﬁﬂaaﬂtmﬁrﬁﬁqﬁamm%uwmr

Junction is reverse biased and collector junction is reverse biased
(d) 99 3cqei F@f 3r-3fBaa Wk GaEr @ swer-3rfaa gar B

Emitter junction is forward biased and collector junction is forward biased

fArfaf@a & & i & o am ywaisy gufy sia-ar 27

Which one of the following capacitors are usable only for DC ?

(a) Uﬂ@ﬁﬂﬂ B AUTRF/Aluminium foil capacitor

(b) enfcaes 99T FUTRS/Metallic paper capacitor

(c) igﬁ?r mﬁlfﬁmq SoFgIese AUTRF/Poled Aluminium-electrolyte capacitor
(d) TRMAS FenmiE/Ceramic capacitor

11 1298/16



38.

28,

40.

4].

42.

emf E volts T2T A& WTRIET ohm Fedsh FnBiel HT Tah FTEd FIRIUR SaRT Aoft
e fFaT ST &1 R @RT gafed ORT & R YR R@rar STee?/When 7 cells,

cach of e.m.f E volts and internal resistance r ohm are connected in series through an external
resistance R, the current through R is given by

(a) n"/(R+nR)
(b) E/(R+1/n)

() n%(r+nB)

(d) E(R+r)

3g GUTRAT &1 Hed gt oS dree(Volts)deh Hrel el & forw

O.SﬁH(Cmﬂomb)ﬂT%(’?

Find the value of the capacitance that requires 0.5 Coulomb to charge to 25 Volts ?
(@ 0.02 farad (b) 0.002 farad

(¢) 0.0002 farad _ (d) 0.00002 farad

gEEHeT & 1.26 RE aoa 33 this da &1 ufd(status) FT &2

When the hydrometer reads 1.26 then what is the status of the lead acid cell?
(2) YoTa: 3MafAd/Fully charged (b) 25% 3TMATAA/25% charged
(c) 50%3TaTRAd/50% charged (d) faafoid/Discharged

F T & fav P uRoRhedr § gad gerd & g3

ST TdT g1/A substance that has low retentiveness can be used for manufacturing of
@ fEegd ?I;W/Electromagnets

(b) TAB ?I;W/Pennanent magnets

(©) W/Biamagnets

(d) Hﬂ_ﬂ_;ﬁﬂ?lf’aramagnets

?:i:d'@'ﬂ gfyaer Hepla-ar ‘\’Iﬁ,ﬁ?ﬂﬂ gTeg ‘current’ & 31?_133'3[ &?/Which term in magnetic

circuit is analogous to the electrical term of ‘current’?

(a) Weldd Taicd/Flux density (b) ?;EWHT/Permeance
() TelFd/Flux (d) wfasEH/Reluctance
12 1298/16



43.

b

45.

46.

47.

mm,ﬁw%mw%ﬁrﬁ&ﬁ@ﬁ%wgﬁﬁw@wﬁ%m
grdar gl

The direction of magnetic lines of force, when the current is into the plane of the paper is in

(a) gfgTomad f&2Mm/Clockwise direction

(b) arATId fe/Anticlockwise direction

(c) FIAA e & R{udg v O ST H/lna straight line, opposite to current direction
(d) 3'5@3%' H & @IS 781/ None of the above

RER FACRK AT &1 URT aTEr <Tereh, RER Th g8 RS HY0T qoredd &

ERIC T gy £2/Two current carrying conductors lying parallel to each other are exerting a
force of attraction on each other. The currents are

(@) A=t T aRadi/Low and varying
(b) 3=Td/high

() fuda e #H/in opposite direction
(d) FAET E2AT FH/in the same direction

de & T 9IHTT A fhaer 3@|5F§'TF{ g §2/How many numbers of electrons are there in a

copper atom
(@ 29 (b) 39
(c) 49 @ 59

250 V,100 W& o7 T gfeRrer fraer &2/Resistance of 250 V,100 W lamp will be

(a) 0.4 ohm (b) 25 ohm
(¢) 625 ohm ~ (d) 2.50hm
T g1 1 fafRse gfaRier 9 AR §1/The specific resistance of a

substance depends on

(2) 3Hhr FaTS/lts length

(b) 3T URTSET &YThel/lts cross sectional area
(c) 3! HIHI; FT YhR/Its kind of material

(d) BTR_ﬁJW FHT geh/All the above stated factors

13 1298/16



48.

49.

50.

§1.

52.

gfaer erj?l? & 1/The unit of resistance is
(a) 3TTH/Ohm (b) FE/Mho
(©) W/Coulomb (d) g1/ Henry
& gfaRrel oitgy #r qa) ges & 1/The power factor of a purely
resistive circuit is
(a) Uahdl/Unity (b) Y T/Zero
() 3MIIMATLeading (d) TIIMHI/Lagging
Teh SATEshId dReT &9 & ol gl aleedr &1 Jo4 gl/Fora
sinusoidal waveform, effective value of voltage is
Emax Emax
o = (b
Emax 1,2
(© /2 (d) > Emax
THl FIr.m.s Hed & Eﬂ'cj’?zf %I/The r.m.s value of A.C is equal to :

(@) 3THITH FHeT HT 0.637/0.637 of max. value
(b) HHAT HeF & 0.707/0.707 of max. value
(c) Fftwas AT T 1.414/1.414 of max. value

(d IfOwaa Hd/The maximum value

T gR9YT $r gfdemer 22 ohms & 3R g8 wRwIme afea auTehR 0.8 9Y10 amperes &RT o
wr ol faefaf@a # & 3mdr afFa a2 gefre/a circuit has an impedance of 22 ohms

and drawing a current of 10 amperes at 0.8 power factor lagging. Which one of the following will
be the apparent power ?

() 22kVA (b) 22kVA
(c) 220kVA (d 275kVA
14 1298/16



33,

54.

35,

56.

7:

mw3-¢é§ﬁﬁqﬁwmwm$ﬁvaaﬁ?ﬁaﬁwmm%‘mw
areHey FONcHS AT &ar §, ST Adeld Td HI0T T

When two wattmeters are used to measure power of a 3-¢ balanced circuit and one wattmeter reads
negative, it means the angle of lag is

(@ 0° (b) 30°

(c) 60° (d) 60°a% FUI/Above 60°

-3 FS EFAD] & TIETOT Y& FLAT & 1/The purpose of a
backup fuse is to provide protection against

(a) ITUHR/Overload (b) HfAdleedr/Over voltage

(c) Hfafed &RI/Excess current (d) o IRTY/Short-circuit

U T Heell AGAT H ZaRT 3aFesT Jerger fsfaa frar
STaT €1/In 2 moving coil instrument, the damping torques is developed by

(a) HRE-EI'&UT/Air-friction (b) HaX GRI/Eddy-current

(c) ITeca-uNOT/Gravity-friction (d) aRA-EYUI/Fluid-friction

@Y gk W HeaE SRRy #T AT R & AT R AT H g3eT R ST §?

Which instrument is used for measuring the medium resistance directly?

(a) UFHICY/Ammeter (b) AT/ Megger
(c) 3 FHITIY/Ohm meter (d) dlecHIEI/Voltmeter
wwﬁ?ﬁwcﬁwﬁr#mmm gl

The force required for moving the pointer in an indicating instrument is

(a) Ta&Idr Sel/Deflecting force

(b) fATFUT Fd/Controlling force

(c) HaX UrI 3g#cs del/Eddy current damping force
@ 9 guluT 3gHE Sal/Air friction damping force

15 1298/16



58.

39.

60.

61

Rt 36 Fale, 36 Fsfoal, 6 ¢a Al &1 O AT AERa X

Determine the full-pitch of a 3-phase, 36 slots, 36 coils, 6 poles motor

(@ 9 (b) 6
() 12 (d 18
gfa qd IR ii_!’n_s'f%lﬁ &r ol e &/ Total number of coils
per phase per pole 1s
Waﬁr@m Total no.of coils
(a) qﬁlﬁ?ﬁ?ﬂ No.of phases
(b ) i@ﬁ*’lﬁﬁﬁ'iﬁm / Total no.of coils
) USITRHEAT X YalHHEaT  No.of phases X No.of poles
©) TR eraEaT Total no.of phases
& gﬁﬁ'@ﬁiﬁl’ & No.of coils
(d) mmwxga‘iﬁm No.of phases X No.of poles
W'ﬂﬁ'?ﬁm Total no of coils
v A AN F FEER @y H FEw ¥ FATEA B

In a D.C machine, the number of commutator segments is equal to

(a) dTAR Fr TE&AT/Number of conductors

(b) %a’r ST T&AT & gal=Tl/Twice the number of poles
(©) i@ﬁﬁ FT F&AT/Number of coils

(d W’{lﬁ'?l’ H @ FI3 Ag1/None of the above

A fT a1fa JragiRe §7 F W Bl

The speed of a Motor is practically constant.

(a) IWRTCHAS 9 ¥ FATAA/Cumulatively compounded

(b) Aofl/Series
() &= ®7 & §AfS3T /Differentially compounded

(d) 91d 9U/Shunt
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62.

63

64.

65.

66.

qer F Fvafea e S ardwd-rud & v snfard aqfca eeree
A gl

The Illumination required for a work place where fine work is performed will be of the order of

(a) 500 lumens/sq.m (b) 1000 lumens/sq.m

(¢) 1500 lumens/sq.m (d) 2000 lumens/sq.m

Uh CI'?BT@E' C) $r safa-garar & |/Luminous efficiency of a
fluorescent tube is

(a) 30 lumens/'W (b) 40 lumens/W

(¢) 60 lumens/W (d) 80 lumens/W

T& FoRRiT o7 1 URMEEF gdee dieedn F4T §7

What is the initial operating voltage of a fluorescent lamp?
(a) 240V (b) 230V
() 1100V (d 110V

e Rl el arveEe R @ wRT, & ame 3@ga & v Sla-ar gerd
3T §?

For industrial furnaces where temperature should remain constant, which material is suitable for
heating element?

(a) TS¥IFA/Nichrome (b) Z_Iflﬁﬂ/Eureka
(c) <ITEC/Tungsten (d) cAfRAH/Platinum
R & $e-fARR gord goa A td & & w3 safdemor gid &1 sue iU

GHTET FHROT AT §7?
While running a food mixer in the house there is lot of interference in the radio and TV. The most
likely reason is

(a) Tihe H ot aur gl HafafAfAa €1/Phase and neutral are interchanged in socket.
(b) 9fd U FEIRA el §/The cépacitor across the brushes is open

(c) ufar ster e Sler &/The cﬁpacitor across the brush is short

(d &= sﬁ@' H GL! gfg2r §/There is short circuit in the field winding
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67.

68.

69.

70.

T 9R & arfer weller & o o9 gy &7

Which type of washing machine contains two tubs?

(a) TISHAX TISY & ST ATHA/Ordinary without timer type
(b) TISHAT ST & A HIATT/Ordinary with timer type
() FU-Taarfard/Semi-automatic

(d) ¥aUIfeld TIS9/Automatic type

TH gRonfAT A g fsree & AT sR-aderor & RRr ST &

No load test is conducted in a transformer to find out

(a) Fe olIgT g1fal/Total iron loss

(b) @& &TfA/Copper loss
(c) $aX ORT FIfA/Eddy current loss
(d) fereRf@T gfA/Hysteresis loss

iy & 9fa e ufd d&ds aiads Fgd gl
Change in resistance per ohm per degree centigrade is called

(a) faferse ufdRier/Specific resistance
(b) 9faRer AFA/Laws of resistance
(c) T FsAT F_IDF&TEF /Mechanical equivalent of heat

(@) WY &1 a9 FIUTiEF/Temperamre coefficient of resistance

B, A & T 9Ra 7 v vl el st gl
The frequency of AC supply used in India for domestic purposes is '

(a) 25Hz (b) 50Hz
(c) 60Hz (d) 100Hz
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71

2.

pic

74.

75.

T e gorel A 0T ZaRT PGS diecae fawenfaa $r
ST %Fl/In a 3 phase system, three phased voltages are displaced by an angle

(a) 90° (b) 120°

(c) 180° (d) 270°

BeeRAT g1l Ff e R & T safdcaa AT & HIg grATa:
¥ @AfET &

In order to reduce hysteresis losses the core of electrical machines are generally made of

(@) TITT SEUTA/Tungsten steel (b) TGl ANET/Cast iron

(c) 3T &Il SEUTA/High carbonsteel (d) AT gEaTA/Silicon steel

Far #Hex & a1f garT fAIfya & s §

The speed of Energy meter can be controlled by

(@ Aofr E_I;HEFI Series magnet
(b) SR E_I‘;El$/Braking magnet
(c) ureauy ?II;WI Shunt magnet

(d) ©TEsT Yg/Shading band

gRafda & Hgar uayr I & v @mmw & 30eT 5y 9erdy &1 waer f&Far smar §2

What is the material used inside the breather to prevent the moisture entering the transformer?

(@) WRIF FeRE/Sodium chloride (b) W3IA RAfehe/Sodium silicate

(c) R Ser/Silica gel (d) SIT9R Hethe/Copper sulphate

TFH T&AT &7 10 %, 30 §, aF T&AT 3T 87
If 10 % of a number is 30, what is the number?

() 3000 () 300
) 100 d 30
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76. U HIGT AR AT AR WY FHE W@ IR § R Sq 3T SE ¥ 39y
a—mﬁm@‘raﬂm%l%ﬁé‘ra?rﬁaéwma‘flé‘rwa?r”ﬁéfumm &laR & dol T
?ﬁé?rasmaa‘aa%rﬁrqﬁ%?ﬁ%?

A ladder is kept leaning against a wall such that its tip is along the top of the wall. Length of the
ladder is 13 m. The height of the walls is 12m. What is the distance between the base of the wall
and the foot of the ladder?

(a 1Im (b) 25m
() 5Sm (d 7m

77. 3242342451
2 4 4 2
(@ 112 b 13
Es

© 125 @ 12

78. UH GHAER F U Al AT W IS FA-HET F 10%3N0F 31T foar 30t 352
10%8T 9T 99 &A1) 38 s & &y ar ase Reger 22

A shop keeper marked a TV set 10% more than its cost price and sells it with 10% discount. What is
the profit or loss in the sale?

(@)  1%3T8/ 1% profit (b) e FEI, AT Ai/no profit, no loss

(c) 1%sT5¢/ 1% loss (d) 5%@M3/ 5% profit

79. 1)+ (1)’ H HAeT gt &2
The value of (-1)*+ (-1)*is
(@ 1 (b 7
) =1 (@ o

80. amaﬁﬁwﬁmaﬁwgmm%%laﬁﬁ#mmaﬁﬁ-xﬂ%?

Product of two consecutive odd numbers is 35. What is the smaller number of the two?
(a) 7 (b) 35
(@) 1 d 5
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